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(1) Finish proof that

p(x) = f(x) + (x -x) f(x -, x ,
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Trick/alt . methods :
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d
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Mult by

mix = - Cnx

OR

mx - xs

↳
mix = (x3)x

Trick : 34 simply : (lit
q(x) = 2x(q) = 2x
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u
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if
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-
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So
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mx = x y
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Matrix :

Hallo
,
Hallo

condos (B) = /allo IIA'll

I: Ille : malkbl , Kild)



So we know

1) (: ](E]IIe

↓ II Gallo Il Ck]IIa
-

mix(3 +7 , 1 +8)

-

10

Also

1) (i) [E]II can equal

10 : Il (Ille



will equal for either

(k) = (i) or (1)
or

(ii) - (vii]

-Elle = men((Xa)
, (2)

also

no
I Fill

- hm ((X , 10 - 1x 10)
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To be continued---

Divided differences :

Prac fits (Xa
, f(xd)
,
-

-Knife)
add (Xn , f(xn)
see we need pe(x) deg In

Pn(x) = Pn + (x) +

Cn(x-Xd -
- (X - Xn-)
-

( fr x = Xy
p - Xu

#o for x = Xn



Hence

IIn = Prixit
f(xn) compute x= Xn
de e

- Pn(xn) - Pn-) *n)
---

(n-Xo) ... (Xn-km-)

Starti

To fit (xo , 40)
= (Xx

, f(xx)

Po(x) = const = f(Xo)

Po is of deg 20 , Po-cust
= f(xd)



fit (x, f(x) :

p ,
(x) = Po(x) + C(X - Xo)

fa x = X ,

P(x) = f(xd) + C(X
,
- d)

u

f(x
,
)

En

f(xd)
= X

,
- Xo

-> f [Xo /X ,]



P2(x) = p(x) + C
-
(X - X0)(x -x)

fit (Xm , f(x)) or (xusYz)

C =
P(x2)

(X2-Xd)(X2 X , )

-

-

P(Xz)

(x2-X0)(X , - Xc)
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,
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- f(x))(Xxd)

-- +
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-

f(x , )

# f(xz) term Txd(x2-Xi



--*
-x(xz xd)(X- X , )

+ f(x) term(
-(X , Xc)(X ,

- Xn)

+ flxnstorm

looks lik symmetry

en xi(*)C



This can be inferred via

Lagrange interpolation---

remarkable

obs fix)- f(xc
,X)

-
-

X= Xp

- f(xo ,Xistz)
↑
long cal -
-

Using (*) We can also prove

f[xestr
,XeXg]-utg)-f(xosxi



Mand! Proof of Tayke's
thm

-
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